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Question 1 

Which of the following statements create a data object? Note: There are 3 correct answers to this 

question. 

A. CLASS-DATA 

B. CONSTANTS 

C. TYPES 

D. CLASS 

E. PARAMETERS 

Answer A B E 

Question 2 

What can be part of the signature of an instance constructor? 

Note: There are 2 correct answers to this question. 

A. Changing parameters 

B. Exporting parameters 

C. Importing parameters 

D. Exceptions 

Answer A C 

 

Question 3 

A user runs an ABAP program, enters an incorrect value on the selection screen, and chooses 

Execute. 

Which event block must send the error message in order to display the selection screen again? 

A. AT SELECTION-SCREEN OUTPUT 

B. AT SELECTION-SCREEN 

C. AT SELECTION-SCREEN ON VALUE-REQUEST 

D. AT SELECTION-SCREEN ON HELP-REQUEST 

Answer B 

 

 

 

 



 
Question 4 

What properties will be set when you define a table type in the ABAP Dictionary? Note: There are 3 

correct answers to this question. 

A. Primary key 

B. Access mode 

C. GET/SET Parameter 

D. Line type 

E. Change document 

Answer A B D 

 

 

 

Question 5 

You have created a screen on which the user enters data that is to be inserted into table T1. How do 

you ensure that the content of field F in table T1 is checked against table T2? 

A. Create a foreign key for the assigned field of field F of table T1 in table T2 and make table T2 

the check table. 

B. Create a foreign key for field F of table T1 and make table T2 the check table. 

C. Create a foreign key for field F of table T1 and make table T2 the foreign key table. 

D. Create a foreign key for the assigned field of field F of table T1 in table T2 and make table T1 

the check table. 

Answer B 

 


